(072202 @ppp 75 J#HEY=FH1 K Flanged H-Model Linear Guides LGH-F series qee® (01722

N L
L1
| PR R
N —— | |
P D , an i}
HU ) lHH HH[
Hl F i ‘ ‘ ‘ Sse s
i (] 1]
| od || | | ‘ i \ i
t [ b
0 ! ! Il | l
: : | !
[o) T |
e G nXP | (G)
g Lomax
Mx My Mz
VRS VRS VRS
[ d Ik &=
#  LGH-F ) —X5FiE&R BAGI : mm
bl 7 A 0 W) B A R - < r — ~f % T = A=y TIWAE| BRERNE | BNFAE— AN [XTVY7] L=
C Co Mx My Mz B e
H |Ho | To | W L w ) L1 F | Mx¢01]| S iy h P G Dxdxf |Lomax| HUftX | t2 | N | (kN) | (kN) |(kN-m)|(kN'm)|(kN-m)| (kg) | (kg/m)
LGH15F 24 46 | 16 47 | 56 38 | 30 | 40 | 194 | M5x8 | M4 | 15 | 14 60 20 | 75x 45x 5.8| 4000 ®3 | 43 | @45 | 9321349 | 007 0.05 0.05 0.21 1.4
LGH20F 30 5 |215| 63| 678 53 | 40 | 488 25 M6x9 | M5 | 20 | 18 60 20 | 95x 6 x 9 | 4000 | M6x1 | 7 (15) | 15.00 | 21.08 | 0.22 0.18 0.18 0.40 2.6
LGH25F 36 7 23.5 70 78 57 45 57 29 M8X12 M6 23 22 60 20 11 X 7 X 9.5| 4000 M6 X1 7.8 |(14.5)| 20.55 | 27.31 0.35 0.31 0.30 0.57 3.6
LGH30F 42 9 31 90 99 72 52 72 33 M10X12 M8 28 26 80 20 14 X 9 X12.5| 4000 M6 X1 7 (13) | 30.74 | 41.31 0.59 0.49 0.48 1.10 5.2
LGH35F 48 95 | 33 100 | 109 82 | 62 | 80 | 385 |mi0x13| M8 | 34 | 29 80 20 |14 x 9 x12.5| 4000 | M6x1 | 8 (12) | 40.87 | 53.96 | 0.94 0.74 0.72 1.60 7.2
LGH45F 60 14 37.5 120 | 138.2| 100 80 105 46 M12X15 | M10 45 38 105 225 (20 X14 X17.5| 4000 | M8X1.0 | 85 [(12.5)| 70.32 | 92.73 2.12 1.67 1.65 2.70 12.3
X EEL-IRX B : mm
i % %2 — v £ s L —)
100 500 1000 1500 2000 2500 3000 3500 4000 BAEX
LGH15F 1§O ‘ 2§0 ‘ 490 ‘ 5?0 ‘ 61‘10 ‘ 7§0 ‘ 8§0 ‘ 1q00 ‘ 11‘20 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 16‘00 ‘ 17‘20 ‘ 18‘40 ‘ 19‘60 ‘ ZQ8O ‘ 2290 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 3q40 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090
4000
‘ 2%0 ‘ 3)10 ‘ 4(%0 ‘ 5é0 ‘ 760 ‘ 850 ‘ 94‘10 ‘ 1660 ‘ 11‘80 ‘ 13‘00 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 19‘00 ‘ 2‘026 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31‘00 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37b0 ‘ 38‘20 ‘ 39‘40 ‘
LGH20F 1§0 ‘ 2{30 ‘ 490 ‘ 5?0 ‘ 64‘10 ‘ 7(?0 ‘ 8§0 ‘ 1q00 ‘ 11‘20 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 16‘00 ‘ 17‘20 ‘ 18‘40 ‘ 19‘60 ‘ ano ‘ 2290 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 3q40 ‘ 31‘60 ‘ 32‘80 ‘ 3490 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4090
4000
‘ 2‘20 ‘ 34‘10 ‘ 4é0 ‘ 5i‘30 ‘ 760 ‘ SéO ‘ 91‘10 ‘ 1660 ‘ 11‘80 ‘ 13‘00 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 1950 ‘ 5026 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26‘20 ‘ 27‘40 ‘ 28‘60 ‘ 29‘80 ‘ 31‘00 ‘ 32‘20 ‘ 33‘40 ‘ 34‘60 ‘ 35‘80 ‘ 37b0 ‘ 38‘20 ‘ 39‘40 ‘
LGH25F 2?0 ‘ 34‘10 ‘ 4?0 ‘ 5§0 ‘ 790 ‘ 8?0 ‘ 91‘10 ‘ 1QGO ‘ 11‘80‘ 13‘00 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 1990 ‘ 2020 2140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
4000
‘ 2é0 ‘ 460 ‘ 5é0 ‘ 61‘10 ‘ 760 ‘ 850 ‘ 1600 ‘ 11‘20 ‘ 12‘40‘ 13‘60 ‘ 14‘80‘ 16‘00 ‘ 17‘20‘ 18‘40 ‘ 19‘60 2080 2200 2320 2440 2560 2680 2800 2920 3040 3160 3280 3400 3520 3640 3760 3880 4000
280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
LGH30F 1 1+ttt —ttttttr """ttt —+ 4000
360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
LGH35F —tttt+—t+—t 4+ttt 4000
360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
570 780 990 1200 1410 1620 1830 2040 2250 2460 2670 2880 3090 3300 3510 3720 3930
LGH45F — 44—+ 4000
675 885 1095 1305 1515 1725 1935 2145 2355 2565 2775 2985 3195 3405 3615 3825 4000

FEHS | LGH30F —CG —2 Xx1400

LT _] —[ L L—=ILR&(Lo)
- zb—)bﬂkl:fifﬁ?’%’\"?')’/ﬁﬁ

B/ BEHY—R
CG o )—=251)—X

VG BExEJ)—R
HG BRJTY—R
FG BRIU—R

228 XJ)—RADMIRPAAS R 229



